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Warmup 3/ (Pythagorean 
Triple ___, 15, 17)
1. TV A and TV B are both 42-inch TV’s. (Remember, TV’s 

are measured by their diagonals.) TV A has a length of 32 
inches. TV B has a length of 36 inches. Which TV has a 
greater area? 
Draw pictures and show all of your work.

2. Which TV has a greater perimeter?

Created by Mr. Lischwe

3) Find the area and perimeter of the triangle:

QUIZ TOMORROW!!!

• Finding sides using the Pythagorean Theorem

• Finding distance between two points

• Drawing pictures to help solve problems

• Know the difference between perimeter and area!

• ***RIGHT NOW, PLEASE WRITE THIS NOTE ON THE VERY 
BOTTOM OF YOUR HOMEWORK:***

• “Now, go to lischwe.weebly.com and check your 
answers!!!”
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x ≈ 𝟏𝟏. 𝟑 𝒇𝒕

Area of a Right Triangle
• A right triangle has one leg that measures 12 inches and a 

hypotenuse that measures 13 inches. What is the area of this 
triangle?

B

12 in

13 in

BASE

HEIGHT

NOT BASE OR HEIGHT!

𝒙𝟐 + 𝟏𝟐𝟐 = 𝟏𝟑𝟐

𝒙 = 𝟓

𝑨 =
𝟓 ∙ 𝟏𝟐

𝟐

𝑨 = 𝟑𝟎 𝒊𝒏𝟐

DO NOT DRAW ON 
THIS PAPER!!!

C
(10, 4)

14

12

𝟏𝟒𝟐 + 𝟏𝟐𝟐 = 𝒙𝟐

C
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Pythagorean Theorem in 3D
D

This is a right triangle
7

7

𝟕𝟐 + 𝟕𝟐 = 𝒙𝟐

𝒙 = 𝟗𝟖 𝒐𝒓 𝒙 ≈ 𝟗. 𝟗

This is also a right triangle

7

𝟗𝟖

𝟗𝟖
𝟐
+ 𝟕𝟐 = 𝒙𝟐

𝒐𝒓 𝒙 ≈ 𝟏𝟐. 𝟏𝟐 𝐢𝐧

E

You should draw a picture to 
help you!!! (You may draw it or 

use a graphing sheet)

3

2
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1

2

1

𝟐𝟐 + 𝟑𝟐 = 𝒙𝟐

𝟑𝟐 + 𝟏𝟐 = 𝒚𝟐

𝟐𝟐 + 𝟏𝟐 = 𝒛𝟐

≈ 𝟗. 𝟎 𝒖𝒏𝒊𝒕𝒔 (𝑫)

More ladders!

• A 20-foot ladder is leaning against a 24 foot tall building. 
How far away from the building must the ladder be so that it 
reaches a window that is 6 feet below the top of the 
building? (Draw a picture!)

F

x

18
20

𝒙𝟐 + 𝟏𝟖𝟐 = 𝟐𝟎𝟐

𝒙 ≈ 𝟖. 𝟕 𝒇𝒕

Find the distance between:

• Points (101, 450) and (200, -50)

G

𝟗𝟗𝟐 + 𝟓𝟎𝟎𝟐 = 𝒙𝟐

≈ 𝟓𝟎𝟗. 𝟕 𝒖𝒏𝒊𝒕𝒔

Bob’s Drive

• Bob drives 10 miles east, then 3 miles south, then 4 miles 
west. How far away from his starting point does he end up? 
(Draw a picture!)

H

10 mi

3 mi

4 mi

?
6 mi

3 mi

𝟔𝟐 + 𝟑𝟐 = 𝒙𝟐

𝒙 ≈ 𝟔. 𝟕 𝒎𝒊

If the distance between the points is exactly 10 
units, then what is the value of ?

10 units

(-3, 9)

(, 3)

I

6 units

?

𝟔𝟐 + 𝒙𝟐 = 𝟏𝟎𝟐

𝒙 = 𝟖

 = −𝟑 + 𝟖 = 𝟓
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A visual proof of the 
Pythagorean Theorem…
• https://www.youtube.com/watch?v=pVo6szYE13Y

RATE YOURSELF. HOW GOOD 
ARE YOU AT:
• Using the Pythagorean theorem to find the 3rd side of a right 

triangle

• Finding the distance between two points by drawing the 
triangle or by using the distance formula

HW: You have a choice!

• The EXTRA PRACTICE worksheet has 21 problems, but they are 
easier. 
• Choose this one if you might be a little shaky on some of the 

concepts and you want to make sure you get the basics down.

• The EXTENSION worksheet only has 7 problems, but they are 
harder. 
• Choose this one if you don’t think you need any more practice on 

the basics.

• When you are done, you MUST log on to my 
website and use the answer keys to check your 
work in a different color. This will be part of your 
effort grade.

https://www.youtube.com/watch?v=pVo6szYE13Y

